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SRAM and are two types of RAM.

B 3 Hena fEaE 3] ¢ (1) Client-Server (1 G % #)  (2) (BEN%H) -

A is a program in execution. (hint: task/job/process)

A 64-bit processor can manipulate bits at a time.

The CPU uses repeating machine cycles to execute instructions in the program, one by one, from

beginning to end. A simplified cycle can consist of three phases:
(1) fetch (2) decode and (3)
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26.7F 7] javascript A2V AEH ITEE S
function double(x) { return x+x; }

function triple(x) { return x+x+x; }

function magic(n) {
if (n <=0) return 0O;
return n + magic(n-1);

console.log(double(triple(3)));
console.log(magic(triple(double(3))));

The output:

27. 77| Java AR GFRES ?
public class TEST {
public static void main(String[] args) {
System.out.printin(IsMagic(97));
System.out.printin(IsMagic(98));

}
public static boolean IsMagic(int input) {
if(input == 1) return false;
for(inti=2; i <= (input-1); i++) {
if( (input%i) == 0)
return false;
}
return true;
}
}
The output:




